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Case Study 1

AMS Fertilizers is a 11-year-old fertilizer manufacturing company in Punjab, decided to
expand their business in 3 other states namely Karnataka, Tamilnadu and Assam where the
product is having good demand. They planned to approach farmers directly to understand their
demands and also the dealers in the said state to establish the products.

Mr. Aditya who is looking after the HR department of AMS was been called by Mr. AM
Singh. He informed Aditya that, “Aditya today I am excited as we are expanding our business
in other parts also. So, | want you to identify best candidates for our marketing department who
can establish our products in the new market”. He continued, Aditya | want 3 best marketing
candidates in place within a week. Don’t wait for any further order complete the task in a best
possible way.” Mr. Aditya also started his work with immediate effect.

He finalized 3 best candidates namely Mr. Kushwa, Mr. Dev and Mr. Bowmick. All the
three candidates were having good experience and excellent track record in top fertilizer
companies. After Recruitment Mr. Aditya introduced them to Mr. AM Singh thereafter Mr.
Singh assigned with their duties.

Challenge to MR. Aditya

After a month Mr. AM Singh called Mr. Aditya and started a heated argument as follows,
“Aditya I believed you and asked you to recruit 3 best candidates, Once you finalized I didn’t
had a second thought, | placed them for the task and you blasted all my dreams”. Confused
Aditya asked in a polite voice “But sir I brought best candidates, I am not able to understand
the issue sir. I didn’t even get the opportunity to meet them after I left them in your cabin”

Mr. Singh said “OK, let me explain you clearly. Except Mr. Bowmick who is placed in
Assam, both of your other 2 candidates could not bring any business, they failed and are in
verge to give up themselves. So Mr. Aditya tell me what should | do now. Why should | pay
you if you are unable to do even a basic HR job.”

Questions on Case Study on Job Analysis in SHRM

1. What went wrong in the case.

2. Who is at fault Mr. Singh or Aditya or the 2 failed candidates
3. How the fertilizer company can come out of this issue.
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. What are the HR concepts that you can correlate with this case.

Case Study 2

Watson Public Ltd Company is well known for its welfare activities and employee-
oriented schemes in the manufacturing industry for more than ten decades. The company



employs more than 800 workers and 150 administrative staff and 80 management-level
employees. The Top-level management views all the employees at the same level. This can be
clearly understood by seeing the uniform of the company which is the Same for all starting from
MD to floor level workers. The company has 2 different cafeterias at different places one near
the plant for workers and others near the Administration building. Though the place is different
the amenities, infrastructure and the food provided are of the same quality. In short, the
company stands by the rule of Employee Equality.

The company has one registered trade union. The relationship between the union and the
management is very cordial. The company has not lost a single man day due to strike. The
company is not a paymaster in that industry. The compensation policy of that company, when
compared to other similar companies, is very less still the employees don’t have many
grievances due to the other benefits provided by the company. But the company is facing a
countable number of problems in supplying the materials in the recent past days. Problems like
quality issues, mismatch in packing materials (placing material A in the box of material B)
incorrect labelling of material, not dispatching the material on time, etc...

The management views the case as there are loopholes in the system of various
departments and hand over the responsibility to the HR department to solve the issue. When
the HR manager goes through the issues he realized that the issues are not relating to the system
but it relates to the employees. When investigated he come to know that the reason behind the
casual approach by employees in work is

e The company hired new employees for a higher-level post without considering the
potential internal candidates.

e The newly hired employees are placed with higher packages than that of existing
employees in the same cadre.

Question:

Narrate the case with a suitable title for the case. Justify your title.

Case Study 3

Harsha and Franklin both of them are postgraduates in management under different
streams from the same B-School. Both of them are close to each other from the college days
itself and the same friendship is continuing in the organization too as they are placed in the
same company, Hy-tech technology solutions. Harsha placed in the HR department as employee
counsellor and Franklin in the finance department as a key finance executive. As per the grade
is concerned both are at the same level but when responsibility is concerned Franklin is holding
more responsibility being in core finance.



By nature, Harsha is friendly in nature and ready to help the needy. Franklin is silent in
nature ready to help if approached personally and always a bit egoistic in nature. They have
successfully completed 4 years in the organization. And management is very much satisfied
with both of them as they are equally talented and constant performers.

Harsha felt that now a day’s Franklin is not like as he uses to be in the past. She noticed
some behavioural changes with him. During general conversations, she feels that Franklin is
taunting her that she is famous among the employees in the organization, on the other hand, he
is not even recognized by fellow employees.

One morning Mr. Mehta General Manager Hy-tech technology solutions shocked while
going through the mail received from Franklin about his resignation. Mr. Mehta called Harsha
immediately and discussed the same as she is close to Franklin. By hearing the news Harsha
got stunned and said that she does not know this before she also revealed here current
experience with him. Mr. Mehta who does not want to lose both of them promised her that he
will handle this and he won’t allow Franklin to resign.

In the afternoon Mr. Metha took Franklin to Canteen to make him comfortable after some
general discussion he starts on the issue. Franklin, after some hesitation, opened his thinking in
front of Mr. Mehta. The problem of Franklin is

1) when he comes alone to canteen the people from others don’t even recognize him but
if he accompanied by Harsha he gets well treated by others.

2) one day Both of them entered the company together the security in the gate wished
them but the next day when he came alone the same security did not do so.

3) Even in meetings held in the office, the points raised by Harsha will get more value so
many times he keeps silent in the meeting.

It happens to Franklin that he has to face such degradation in each day of work which
totally disturbs him. Franklin also questioned that > Harsha and myself have the same
qualification, from the same institute, passed out in the same year both with first class. We have
the same number of experiences in this organization. Moreover, the responsibilities with me are
more valuable than those of Harsha. After all these things if I am been ignored or unrecognized
by the fellow employees my ego does not allow me to continue here”.

By listening to this statement Mr.Metha felt that it is not going to be very difficult to stop
his resignation. Mr. Mehta explained Franklin the reasons for such partial behaviour of the
employees.

After listening to Mr. Mehta Franklin said sorry for his reaction and ready to take back
his resignation. And he called Harsha and spoke with like before.

Question:

Find the reason that Mr. Mehta would have given to Franklin.



